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Horizon depends on discount y
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The Options Framework
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The Options Framework

Reward model: Transition model:
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Options with Time Dilation

Reward model: Transition model:
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Options with Time Dilation

Reward model: Transition model:
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Options with Time Dilation
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Y, controls how much we care about option duration
(pseudo-primitive when V,= 1)
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Primitive Timestep Invariance
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B|aS—Va|’|an[E Tl'adEO Empirical error (Four Rooms)
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Bias-Variance Tradeo

Analytical variance bound
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Empirical error (Four Rooms)

Bias-Variance Tradeoff
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Largery, can induce less variance!




